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BH: QUIAEHL ZSTH(LUDTHY/LBHE)
Chelr HEE JUEA (ol &2
SH-EH . S2(30) - MRAY - BES Ofl & 04 plE<L HRE2
FESALA DL 8,754,496 8,341,068 413,428
= 2,307,062 2,307,062 0
S 6,447,434 6,034,006 413,428
SHRAEA FERE (LS ST /LUHEE) 8,652,768 8,276,068 376,700
= 2,307,062 2,307,062 0
= 6,345,706 5,969,006 376,700
dE3 JIgtxH 964,400 614,900 349,500
SLEM S20H ALY 549,500 200,000 349,500
207 A 1OHEH| 0 200,000 A 200,000
02 ™AHEHI 0 200,000 200,000
OS2UHAIL A AR RE(F K2 0 200,000 A200,000
403 X HMEAH=01H 549,500 0 549,500
01 RXSMA2E = 549,500 0 549,500
O=HQlu-—careAlAE P H 180,000 0 180,000
Ou-—cityMBIARS 369,500 0 369,500
HEAT oA 1,939,198 1,943,998 24,800
= 988,898 983,898 0
= 950,300 955,100 A4,800
CHESHOIXS EZAY 120,700 125,500 24,800
207 A0 116,200 121,000 4,800
02 & &R 116,200 121,000 A4,800
DEHEYLSSHEHOINZH =2
A 116,200,0002 16,200 21,000 24,800
AL EE 2E 5,201,670 5,149,670 52,000
= 1,318,164 1,318,164 0
S 3,883,506 3,831,506 52,000
dRE 2 ARII B=S 270,000 150,000 120,000
405 KHAHFESHI 270,000 150,000 120,000
01 XL SEFSY] 270,000 150,000 120,000
PCR AL 1T 22 H 270,000,0002 270,000 150,000 120,000
ANEAZAHEEZZAIAE R 1,019,277 1,072,277 A53,000
405 AHoHESHI 747,000 800,000 A53,000
01 HARESFSH 747,000 800,000 A 53,000
O2UetAlAE Y 2% 747,000,000& 747,000 800,000 A 53,000
ssgazy 29 104,000 119,000 15,000
201 Let2IH| 54,000 69,000 A 15,000
01 AtE22/Hl 10,000 20,000 A 10,000
OXQ#MTSHIUIYXE
Z & 10,000,000 10,000 20,000 A 10,000
02 Z==23Hl 44,000 49,000 A5,000
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